EJEES
HFL2T HFLRT HFLUW

ATy

A\ 1k BB 2 2 PR

T651-2404 HEHERX AR ETE#EIH 53
TEL O078 (967) 1481
FAX 078 (967) 3090

ARERRSIVAEHIEOMERREZTT,

AfB&@IE 2014 F£4 A1 B JUBRVLEY, (RBRREAERFICEEROBRRERLLET.)
BEEXIFRBEZEST IO ABRRICEHIN TOIRBRVHBISTITEITEL,
RISFEEHSN-HEOHGEE M. FRUNO=OMRZEITE Yo E TWEEET,

74C. 74H 11 .74HF .74HF I . 76P. 78F. 80L. AA. AF. AF I . AFII. AFT. AL. AX. AXIL. CM. CP10. CP15. AB. C120L. CIL. CA.
CB.CBI.CF.CFI.DA E. EI.EIB.EIF.EIFB.EI.EL ELB. GAL GALB. GF. GLL. K. KIF. KIT.R. V. VKT. VT.
B3M. BD. BMs. BXs. BXs-30. S1K. DK. DM. ECS5. F21DM. F2DM. F2K. F2M. F3Z. FKs. G21M. G21Mp. G24M. G24Mp. G2K.
G2X. G2Z. GKs. GMs. CX. CXs. K21M. K2Xs. K2Z. KG. KGR. KGs. KL. KX. KXs. L4M. LXs-40. NK. NKR. NY. SD. SDR. SET-20.
SETR-20. V2K. V2M. F2M. S2Z. V260M

N =

MAERDRT

— GEHEEV. BEREOERIIESTEIERN-LEEA,

X BEificH#iaL = LEEA.

| BRZIZFERTET. TOBROKDOYICHIET S2EEL”HYFT.
3 (KF)TytrITYER&R

Ty Tyt TYEES

SW INRESR

W EREES

AJ TIoO¥RA

SP AL/

PK NRYXURIFEHAR YT Y +

RILE  KRARILE

FOBEKITOVWTIEIESERESELTTSIL, BLEKICOVLWTIESEIVLEDLE L EELY,

AEFITHRDF-OFEL L RBRMMEEAEH S EABHY FET,




HFL2T-HFLRT-HFLUW 1

?‘11—3

HFLRT,

6-2
6-4




>3)LA—  HFL2T/HFLRT/HFLUW
HE @& E B8 % my @ ||HE| & B B8 4 G
1_[3129-11000 | | %4 —27ys (% Of) | 1 4-4 | 3387-22411 [X|ABYMLA=(W) L=1070 | 1
3129-11100 | | X% —R7vL (% E) | 1 4-5 | 3429-22520 | K|RAVALTA¥(2x970) 1

i * v —2 i 46 | 3429-27320 [K|ANVF—HFa—T70x850 | 1

2| ol e AP 1] 47 | 3355-31210 | X|3—F/3F 1

= | AN LEY 1| 48 | 3394-31210 | |HEHR/IUF(Q2x80R) 1

| | popy iy 1| — 3124-95001 | *|ROyMLN —1R4EET D 1 —

1-5 | 0311-16001 | ¥[6001 NS A7 Y 1

1-6 | 0311-00627 | *|627 X7ULT 1 5 | 3324-26511 | |FOTY%—(KE8&) 1

1-7 | 0311-00609 | *|609 XF7ULT 1

1-s | 0311-30609 |*|609 Z N7 T 1 6 | 3354-22300 | |[V—FNTELTYY XA |

=0 | 0212-02812 | *|R-28 ZFvy T s 1 o-1 | 3354-22310 | X|/L—F KL 1

1-10] 0212-02412 | ¥|R-24 ZF ¥ TV Y 1 6-2 | 335422320 | ¥|[)V—TFN\UFLFrYT |1

1-11| 0211-00910 | ¥[S-9 RFvyTUY 1 6-3 | 0111-40530 [ *[M5X 30 RYYa W 4

1-12| 0121-00608 | *|M6 x 87XFAK I+ 1 6-4 | 0161-00540 | *|M5 F vk 4

1-13] 0121-10625 |O|M6X257 < B Lb.SW 1

1-14| 3353-11210 [O|HZ 2R 1 -1 | 3347-22210| [U¥TUVT 1

1-15| 3112-11220 [O|H#WZ 2R AWAT) | 4 7-2 | 3347-22320 | |FIvT UK 2

1-16] 0171-00812 | [M8 FIyvr (V) 1 7-3 | 3347-22310| |EYYT 1

1-17| 3143-11240 | |MBSW & 1 7-a | 3347-22320 | |FvTNUE 2

1-18] 3156-11231 [O|M8X22EHK I SWE W fF2& 1 125 | 3355-27310 aLF—rFa—T 7x200 | 1

1-19| 0111-10512 [ [M5X12 RZYa SW 1 7-6 | 3394-31210 | [¥EE/\UF(2x805%) w

21 | 3438-21100 | |1~/ 81T Assy 13 @24 x 1800] 4 a-1 | 3388-22411 ARYMLLN = (T)INYHT L=400| 1

2-2 | 3429-12180 | |P20 OUYY 1 g2 | 3431-22521 | [ABYHILT A (420X70) | 1

2-3 | 3438-24100 AF—i(T Ty L1785 1

24 | 3438-25110| [ZLF>v7h O5x P6x1858 | 4 o | 3335-21200| |/\HTASSYGXEN{T) 1

o5 | 3420-26450 | |FVPaRAAR XAt 1 o-1 | 3335-21210|%|/\>H 11 -

2-6 | 3114-31150 | *|¥— /L ¥aATb 1 op | 3335-21230|x|9527 1| —
o3 | 3335-21220|%|RR—+ 1| —

3 | 3348-22101 | [V FLTSTubAssy Xdt | 4 9-a | 3335-20525|%|M5X25 R41)1 SW, W 11 -

a1 | 3348-22111 | ¥|7 37y~ (B) 1 -5 | 0161-00540 (M5 Fvyh 1

32 | 334822121 [¥|F7F7 vk (4) 1

3-3 | 3348-22130 |¥|737vk (F) 1 10 | 3353-93310 | |BFABALEDN— XA 1

3-4 | 1128-00522 | ¥[M5 %22 RERAARILE | ) 10-1] 0111-00410 [¥[M4x10 RX')a 3

a-5 | 3353-00525 | ¥|M5x25 RAFRFHRILE | 4
1 | 3353-93202 | |[EZTAFL—bASSY XfF | 1

* | 3000-22203 | |UNVFIASSYRESEWLN AT | 4 11-1| 3353-93212 || EZT1TL—F 1

s | 3355-22203 [*|uRiLAsSY (Wen'-FE) et | 4 11-2| 3347-93232 | ¥|FL—bHEIL 1

- JE— x| U/ RIL 1 — || 11=3| 0122-20615 | * [M6x15+FRAFAMAFIISWW | 2

4-2 - x| £V T 1 _—

s | T |x|BTUVT 1 _—

2014/42REThR




HFL2T-HFLRT-HFLUW

3

\13 -2

HE @& E B8 % Ey @ ||HE| & B 8 % T
12 | 3324-31101 | |77¥FNI22TTvY XM | 4 3353-93422 | |¥RILF—/\UR ) 1
12-1| 3324-31111 | ¥|9IVFNIDLT 1 3353-91140 1BmmARyIRLUF 1
12-2| 3324-31122 [¥|9TYFFS L 1 5111-91180 | [4mm ARAHLF 1
12-3| 0311-46001 | *¥|6001 ZZ NF7YLT 1 3112-93430 | [E—/\—YUZR 1
12-4| 3324-31160 |[%[12-28-5 AL —IL |4 3123-91162 | |/ Y& 1
12-5| 0212-02812 | ¥|R-28 RF v T Y 2 3123-93411 | |BEEAN-(H) 1
12-6| 0211-01210 | ¥[S-12 RFyTUL T 1 3123-93451 | [F—F L (HHRE4T) |1
12-71 3323-11180 | ®|7VAR=vT L 1 3347-30615 | [M6x15 Ak sw w 4
12-8| 0114-00406 | %[M4 X 65 RARXTY) 2 1 3353-99115 | |an¥—LMEmEHRAE | 1
13-1 | 3353-31200 | ¥ |FA#RT & 1

13-2| 3353-31311 | [27¥7 1 3438-94100 | [B2RX&ZNIL 1
13-3| 0126-00525 | [MSX25RARMARILE | 3911-94001 | [EESAIL 1
13-4| 0111-10512 | [MSX12 RZYa SW 1 3429-94130 | |7UARINIL 1
13-5| 0217-03615 | ¥ | (IRTW-36) 2375 1 3341-94150 | |BfHIES—IL 1

2014/4%EThR




